2
i
9

QPGO001335 |

®
N1
CANPOINT®

AKRXFRFNG STRLE

5K

EEELAT FERIVEE

=

INELE GBENE

RS #. 4000-555-100

FEEIRIF M
ENRIFE#£7520252380

7

9w B

=
[ &k ]

978-7-201-14625-6
“”WW“NW I
. 53.80

T

KHEHH R % 4]
AANGEK 2

22222222222

E




|.|.|,

H
BE S s S

H.|.

—)  peaR

Z) e

=) =mEn CRESTRSERZAT
M) saEme. sm. sHLE

) suss=x

hEENE (—)
PERUE ()
hEENE (=)

« F—HRT wEMRA

B1H £S5
B2 EREBEMRE
BI3H FAEAMR. EATER
BAH ZRERHE—TZXHE. FER
cETRT BEH
FO5H R ESHER
EOH BREY. BHRE. WHRHY
BT HMRERE
E8IH RHMESR
oW RHEHFER
cE=H; ZARN. CAESTHRSE=
F 10 FERN=ARHSESARA
F1iH =ZRESTH
F£ 12 =ZARMNERIMER
BEETigR (—) s
R ATII R ( :) EREBERE
B (=) FERNUE. EAFER
B2eTIg (M) CREBS—TIRER. g
B () BHMIBS SR
EETE (77) BEH. EHRH. WHEH
BTl () LT
AR (J\) LG eSS
€O HMER B X5
B (F1) B SR

BEIE (1)
REIE (+—)

EFEAN=ARHYSESAH
=RiEEER

BEKXKE
TET XA SRS
% 001 BEEHS (M) % 017
%003  {HEENSE () %019
5006 {FEBENSE () % 021
% 007 HEEHSE (t) % 023
% 009 BE&ZEINS (J\) % 025
HEELS (L) % 027
% 011 2024 £ 7 BIEFWKFEFERHFIHSE % 029
%013
%015 SEER % 031
XIRB R | IR A
F 1B H RIEAEENMEZEE &0 021
%0001 cENE;T FEHME. SH. ZENMW
Al 002 £ 14H FEHAENEAHRR. EHEEERLITERT
%] 003 %] 023
A1 004 E 15 FEEBNHER 4] 025
L6 B &0 026
A1l 006 E7i SE LA £ 027
MO g mEs. 5%, PEZOMMEXE 1029
ig 82 £y TEEL. TANTSSEE 01 030
1015 cERET HitSWME
e £ 20 Hit &0 033
£1016 E21H X %0 035
%0018
%0019 BEEE &0 037
IRATIE | IR 7 Ak A
12 047 Bl (+2) SRRHNESAER i2 069
I8 049 BETiE (+=) SKULERMEL TR iR 071
iR 051 B (+0) FERENEAGS. SnEERemER 1R 073
i2 053 Bl (+8) FEOEHHER 2 074
iE 055 BTN (%) =E4 8 076
i2 057 Bl (+t) =@ LA g 077
g 059 B (+/\) =jEs. B, FEZENCEXR iR 079
i2 061 BRI () ZEEE. FENFISER iR 081
i2 063 BT (=) it iR 084
2 065 BTG (Z+—) m= iR 087
I8 067
iR 068 SEER 1R 089



WE#

B 2
V2222 NN N W A W WS WPV L A 2Ll

%

N N
~

e

-

JXéE (—)
b B S 1R
[RFiE. 80 04p 43f&E: 1004 ]

— BEOUEEB (K K A
i 1A TR
#h# FF )

1. BHES A=
A, {—1)
B. {—1.0,1,2}

312 N B /DA

3
A EFEAEBERN, & 2% .4

st

{_17091}9B:{_29_192}9D—\”JAUB: ( )

{_2,_1,1,2}

C
D. {(—2,—1.0,1,2}
2. Y 2 >0, 22 =075 E 2 ( )

J2x<0, 2" +2x<<0

v »

¥V a>0,2"+2x<0
C. J32>0,2"+2x=0
D. 3x>0,2°+2x<<0
3. Bl a=>b>>c M ( )
A. ab>bc
B. alc|>b]c]

1 1
>

C. b —c

i
D. a’>b">c"

4, BHIARER — 2" —x+6=>0, WZ ALY i 4E 12 ( )
A, {x|—3<x<<2}
B. {x|x<<—25 +>3)
C. {x|lx<<—38 +>2)
D. (x| —2<z<3)

5. “x 1“2 >a ) ( )
A, TR A
B. DB EMF
C. mEFKM
D. BEAF /A A

10.

11.

B 2 >0,y>0, 4 xy=a+2y, 0] xy WHH/IMEHN ( )

A. 4 B. 8
C. 6 D. 2
CHARENX ax’ +ox+2>0 WL Rz |a<<—2 K 2>—1},
M ARZER 20" +ba +a<<0 HIfHSEN «C

A.{ﬂ—&<x<%}

B. {x |lx<<—1 ﬁx>%}
1

Q{xkﬂ<¢<—§}

D. {z]|xz<<—235f x>1)

fEgett . 78— P RE =B, 8706 1 2 A 35 W R ARl IR R 2%
6420 12 A B R 75 D0 4 2 A 0 BRI B D 32 A B 0 IR

RO W BT B ) 22 A T o L ( )

A. 42% B. 53%

C. 52% D. 48%

B a>2, KT x MA%R ax”— Q2+a)z+2>0 fE RN
C

A. {x ’x<§§i1>l}

2
B pf—<x<u
a

, 2

C. [r|le<lgfa>>)
a

2
D. {x|1<z<)

a

[2 2

%a<mh<mMp:%+%5m:a+b%ﬁ$%§ﬁ( )
A. p<g B. p<gq
C. p>q D. p=q
CHla>6>0 H a*—b6"=4,0 a* —ab-+b" Mf/NMEH ( )
A. 2.2 B. 2/3
C. 4 D. 2.5

12.

B TR R (R A AT

13.

14.

15.

19.

GEEEOR A H
R AS{L3 RS A A ECH :

BT r AL Qe — 1D <<ax’ WMEDHEEINHE 34,

W SEHT a 1) BU(E 70 [l 2 ( )
5 7 5 7

A [57] B [5o)
25 49 25 49

L[916 D(?iﬂ

IS F:% TP C
A. e {0} B.
C. J22Q
N AU IR 2 C
A. “VrER. 2+ +1>0" R EHATE

D. 0eZ

B. Y ac>0 0} AF7E 2 € R ax’ +bx—c=0

|2 |+ |y [ ST S SR 2y =0

D. #a.bERM“a#0"E"ab 70" B AR T3 5%
FXHMEREM ab.c€[0,3],
HAFTELL f(a) s (0D f (o) it i) = AIE . S8 & 1Y Al RE
(59 C

C. [z—yl=

CHIBRE f(x)=x"—4x+4+k7 27

—2<m<n<2, 0] m-+n BHEUEEFE 2

“x%ﬁ%ﬁ+m=%<ﬁﬁ~wiﬁx%&j%Mk%m@

4

" g 2 . ) /]
WS v,y Wﬁﬂ;+;:§’ﬁz§%iﬁ x+%>m“—m ER

SEm BUETER

ALaIﬂI

EHERE (<) EEXE P %001



M EEBORAAIL 3 N, H 34 ) 21.
20, (KA HwAL 1l EHMESGA={2|2"—2—6<0},. %4 B=

{x |27 >2}.
(1)%a:1’*AﬂBa
()4 AS (B SRS a 1 HLH L FEL

1002 {emswrespme w

CRAL 2 11 ) FE e #3808 3h 2 T F 9 i w7 2 i fR A4
JZ I BRI AR I AR B R 15 4. 60 A JE K T B 1 B 44
JEI I A 4 T 0 AR R BE R AE SR vy JTOT . B

o . k
PR o K IR KGR v, =5 (0<e <10,

kONH RO, SRR EE N 5 JHKE .y, T 2 Tt B
15 4F B B i 2 2 o 20 10T 98 v. A 15 4R R B S T OB 2%
JH = B B2 A S 3 AR 9 (] 15 4 A9 BE T #E 28 T 415
R EGEE 2EAD.

(DRHIER R

(2) T 18] 24 B P42 19 J5E B Sy 22 /0 JHOR I 15 AE RS 88 . B
/N IR /M.

22, (KE B 12 O CHERE f(2)=ax’—(a+2)x+2,a ER.

(DA f(x)<<3—2x TEHRT R a HHEE R ;
(2)Y a>0 B}, SRAERX f(2) =0 Wi sE;
BOEHE M0 T 2 e (aT2) x| +2=m+

%H 5 PUAS R[] 0 SRR SR 52K o 1 B 705



=5

L L NN W NS NS 777/ il

-

HAIRUE (—)

[BSE): 80 ¥h 43fE: 1005 ]

— BDURFER R AR 12 N AL /AL 3 2, 38 36 2. /AN AL A
HOW WA EETF RAE-ANEFEMEERN, F%. L% .4

)

1. BEAES A={2|0<2<2},B={z|1<a<3}.MM]| ANB=
«C
A, {x]1<x<<2} B. {x]0<<x<3}
C. {x]2<<x<3} D. {x|1<x<3}
z.aﬂzzymnwzﬁ S T P XS N A5 T ( )
%MW B. 4
*’“*%E D. 504 R
3. “a>b>0”E‘“a7>b2>O”E’~J C )
A, TR E A B. B RFE A
C. FmEFRM D. BEA T B 551
4. WS (o =ln ot 7 B ¢ )
A. (0,+0o0)
B. (1,+0oo)

C. (0,.LHU,+4oo)
D. (—co, DU, +o0)
5. “sin @ >0"J&" B —ZIRA7HY ( )
A, TN E KA
B. WA
C. FEEFM
D. BEAS 7845t A 22 55
6. T 4 i A R A A ( )
Ao =R E AP

B. ey i R AR I I 4 2 B 4t T
C. M5 A — i — T
D. Bk HAHE— T
7.ﬁ%a/—%%? ¢
= B. Ja
C. —vV—a D. —Ja

10.

11.

12.

T 72 2 ™ O A R A W TR TEAT R R T R R A A MR
R A M AE 100 mL Jmmtfﬂ‘@**é‘%jt?@zfyT 20 mg H/J\
F 80 mg Y25 3 BB A E M 5 25 3 . 100 mL Iy HOE RS
RFEEET 80 mg 1Y 25 3l 5 9 A 7 hy 530G 25 b fe it e 2% E'EEJ\
Mg T — o w I s R & & B EI T 0.8 mg/mlL,
TSR A 20455 11 W8T LA S Al it Y PP RS i 2 DA AR /NEE 20 06
(18 3 B Ul D B A B B AL B AT B A (S g 2~

0. 30) C )
A. 4 /hBt B. 5 /Bt
C. 6 /BY D. 7 /hit
A 3 XAS[E A EET NP BEFLIECH 2 H, DB ) o 1 #1002 A2
D ) >R R ( )
1 1
AT B.
1 1
C. 5 D. -
WE .7 AAOD H, |OA | > | 0D |. & B.C %31 AD I, H.

AB=BC=CD, & P Jii AD ({5, 0 %1 5] & i 5i& 1
SUNIP] C
A. OP + OA 0

B. OP + OB
C. OP « OC
D. OP - OD
mE, =4 S-ABC 1, SA | V- ABC, H /ACB = 30°,

AC=2AB=23,SA=1,01Z =t SMEBR IR T

( )
A. gn B. 13xn ;
3 AAHH”A
¢, 92/18 p, 1818 ¢ B
3 6

af(a)— bf(/))
a—

+eo), Ha#b, #A <O WAL MIAEER of () —

(§+1)f(1+2)<0 11 fige 4 Hy C

A, (—oo,—D U2, +0o0)
B. (—=1,00U(2,+o)

C. (—1,2)

D. (—co,—1) U0, +c0)

ZBUHEFEE (A A AL 3 /J\%E,ﬁ/J\EEGéJ\,é#B AN
WA E LT, ALEANREHREGAEERN, 2 HEXLH 6 4,
113/\3\5@ EETSJJ\éJ\,T -%% %040

13. TFI
1 s . 1\«
A, y=— B. y=—=x C. y=—=x D. y=<*>

x

14. B a,b,c,d € RTFH B P IER ) 2 ( )
A. %(l>[)9€>damuaid>bit‘
B. # a>b 0 ac>bc

1 1
C. & ab;ﬁO,a>b,)nJJ*<*

a+2b

D. #a>b>0, U"JZ +b>
15, A0 @ — AN 7K S JCE 1 TE DU RS R T2 1) 85 P 25 o o JHG RS 300 A3 4

IR 1) XE DU S JE S0 B M B, 2R AR B @ THOK I, K T
P i 2 0 T DU HE B TR P o 0 2RORE 2 05 180 B K i AR A o

5, PO @), F 910k B g A «
B Wi
] P
© ®

AL TE DURR HE A e A5 T IE DU AR A R i — 2
Lo ] .
B AEE O A A A AT 28 P TEA Sa FHoK S WK & R

L =N 4
@ﬁ%ﬁ%—

C. B2 2500 Ta K S Bl & B, K A i A5 P
D. AEEBEHOZEAY K 1B K AR i 280t 55 P
S HESEOR A 4 DAL RS 42 12 4)

16, TR £ )7J10g21,x>0,
* 1 "+1,2<0,

17, REFARBES EOEEA) TIOR S E F
ﬁ%%,w%#RJf*daﬁzﬁﬁzy/ )
PR R 7 R LA 27 i
“PWT IR A W S A SRR EA 2% b g
T FR = R T FBL AR I 5 T . 76 01D 0% 60 9 B L A )/
CD//EF ,AB=10,CD=8,EF =6, 4l ABCD H1%5 B
W ABFE {58553 31 7 71 3. ELisc P4~ % I 6 5 97 1 10 °F- 16 15
R L DU 3 B O A A

= fO=—1,0 x=

BFEENE () EBEXE P %011



18. ZEAABC 1, N A.B.C X435k asb.c, H 2
acos C+/3asin C=b+2¢, M A=

19 BRIBHL f (o) = Asin wr (A™>0.0>0) K % 1 478 54
0 0 g
(B A W SEER o 1 BT J1 L2

M RERR (KK A3 3 /AL, 38 34 40

20. (RF 2 11 2 B2 80 1 = 5 A 10 5 e 25 1 00, Bl
P T 100 4422 42 O HR 2% 807 GV E I AEAS , It 4 IR0 Bl B
[50,70),[70,90),[90,110),[110,130),[130,150]434H ., £: i
IR SN LT E S N = N
(DRI E a M Il T A UOBE 28 B0 22 B SOas 2R (Rt
FIETE ST 90 4 K DL b2z AR B o 1 L 45D
) AT ZAL 2 A A YR 25 807 IS 1Y 5 80 A 7 i 445
() Al Tz AR 2 A AR UK B 5 52 L 4 1 AR ~F- 80 % (] — i v
() E50H FH 2 2 DX ) g rh s (AR AR R

| EE st mA

0.016--------

0.014f--------
0.0137---

0.004
a

0 j >

50 70 90 110 130 150 #22 e 4h/4

5012 { emswrespme w

21.

(CRA 2 11 ) KL FE B #E B-ACDE W, EA f1 DC %R 3%
BT ABC,H EA=2DC,F & BE 4.
(1)3RiIE: DF //~F-16 ABC ;

(DHFENABC BIE=ML.H EA=AB=2,k B4k AD 5%
ABE JJt U ffi 1 IE 5% (H.

22,

(KA 12 ) EHIREL () Fl g () B9 L3843 5)h D,

Dy WER 20 €D AR IFAFTE n DRI S B 2020500

2, €D, Mg gz ) =f(x) (Hfi=1.2,.n.neN").M

g ()R f(a) W n B TR,

(DA glo)=a" =22+ 1(x€[0,4]), f(x) =z +4(x €0,

5D g () 2B H [ W n EHE R ? WRE K

AR s ISR A2 D

(2) _Jax2+(2a—3)17+1,—2<x<1, L B
g (x) = N of(x) =

11*1,x>1

;JfWWE%%@ﬁ%*iﬁamm@ﬁ@

() B ) A o B R AR R 1. 2] =1.[2] =2,
[—1.2]=—2. & h(x)=bx —[bx ] (x €[0,2))F f(x)=
X
{8140 .

log,

(x€[0,+eo)) AY“2025 H BT 32 PR AL SR IE S8 & B9 X



	2025-2026 全品学业水平考试评估卷 数学 浙江省（备考大卷）封面.pdf
	2025-2026 全品学业水平考试评估卷 数学 浙江省（备考大卷）.pdf



